[ Efficiency vs vertpos |
0.8

................................................

etticiency vs vert r
o
(o))

Ratio

0.95 : .
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_newBASE3
Effici —e— DQM_mkKFit_new
ICIeNd __,__ pQM_mkFit_newANDPL

~n 0.2
LT T N S S S
%] C . . . . .
Z0.16------ ) RRRED: RERERE R i P
> . . . . .

2 E : : : : :
T Sl Ik RS S S i A
(8] L . i . . .
£0.12-- [ R e A P
o E : " : : :
Ol Sl | AR S S S
O B IR SR B IS S
008F -+t fft b o

008l
SO 1 A
0.02 ; RLEASE ;

Ve TP P AL L A N

Ratio

0¥/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1

N F T
O SR I S S S

£ : : + : : :
17)0'085_ """ ] HN I T
31774 RIS SRR 1 S X SRR S RO
2 E : : : : :
< 0.06F------ AR H S RS S Preenees
Tt T - - - -
5] E : : : : :
£ 0.05f - wwr-ooo g P
3] E : N : :
] S s SERRTE P
Y SO S 8 1 I SV
S [ K I8 Cah ¥ i s s
001wl -k TR
AF ] i e | |
o WL 1 |
< r 1 ]
o B 1
1_— -------------- -wE--qr -+ - - - - - -
%55 -0 5 0 5 10

NI
(=]

Sim. PV z (cm)



	Contents
	Page 1


